

BCI-

2005/11/28

2006/08/23

0

*

X

BCI -

BCI-

BCI- :

About BCI- algebras

Ahmad Habil and Ilie Koudsi

Department of Mathematics, Faculty of Sciences, Damascus University, Syria

Received 28/11/2005

Accepted 23/08/2006

ABSTRACT

A BCI-algebra is a non-empty set X with a binary operation, distinguished element 0 , and the binary operation satisfying some conditions.

In this paper we presents a generalization of some important known identities in BCI-algebras that could be help in starting new studies in this field.

Key words: BCI-algebra, Atom, Identity, Distributive operation.

- (k. Iseki) 1966 BCI
 K. Iseki 1980
 W. Cornish BCI-
 J. Meng, X. L. Xin
 BCI- W. Dudek

:BCI- 1

[5], [3], [1]

: -1-1

0 * X BCI-
 :

- 1) $x * x = 0$
- 2) $x * y = 0, y * x = 0 \Rightarrow x = y$
- 3) $(x * (x * y)) * y = 0$
- 4) $((x * y) * (x * z)) * (z * y) = 0$

.X z ,y ,x

* BCI- (X, *, 0)

.BCI- X : (1-1)

: -2-1

:

X

X = {0, 1, 2, 3}

*	0	1	2	3
0	0	0	2	2
1	1	0	3	2
2	2	2	0	0
3	3	2	1	0

(1)

[2] BCI-

X

BCI-

: X x, y

$$x \leq y \Leftrightarrow x * y = 0$$

:

: -3-1

:

BCI- X

1) $x * 0 = x$

2) $x * (x * (x * y)) = x * y$

3) $(x * y) * z = (x * z) * y$

4) $0 * (x * y) = (0 * x) * (0 * y)$

5) $x \leq y \Rightarrow x * z \leq y * z, z * y \leq z * x$

6) $0 * (x * y) = 0 \Leftrightarrow 0 * x = 0 * y$

7) $(x * z) * (y * z) \leq x * y$

.X z, y, x

: -4-1

n x, a ∈ X BCI- X

: $a * X^n = (\dots (a * X) * X) * \dots * X$

$a * X^n = (\dots (a * X) * X) * \dots * X$

.n

: -5 -1

$n, a \in X$ BCI- X

$$x * a^n = 0 \Rightarrow x = a$$

. - n a

. a n = 1

. X -n L_n(X)

. X L(X)

: ~

: -6 -1

: X y, x BCI - X

$$x \sim y \Leftrightarrow 0 * x = 0 * y$$

.X

x [e] = { e₁, e₂, ..., e_n } [e] e [e] e ∈ X
:

$$x^e = (\dots(x * e_1) * e_2) * \dots * e_n * (0 * e^{(n-1)})$$

: j ∈ {1, 2, ..., n} e = e_j

$$x' = (\dots(x * e_1) * e_2) * \dots * e_{j-1} * e_{j+1} * \dots * e_n * (0 * e^{(n-1)})$$

: -7 -1

: X a BCI- X

$$T_a = \{x \in X : a * (a * x) = x\}$$

(3 -1) (2)

$$a * X = \{a * x : x \in X\} \quad T_a = a * X$$

$$. T_{a * X} = \{u * v : u \in T_a, x \in X\}$$

: -8 -1

: X a, b ,BCI - X

1) X $a \Rightarrow X \quad a * x \quad (\forall x \in X)$

2) X $a \Rightarrow 0 * (0 * a) = a$

.[6] :

: -9 -1

:X y, x n ,BCI- X

- 1) $0_*(0_*X^n) = 0_*(0_*X)^n$
- 2) $0_*(X_*Y)^n = (0_*X^n)_*(0_*Y^n)$

.[4] :

2

:

: -1 -2

a, b ∈ X BCI- X :

- 1) $T_{a*b} \subseteq T_a$
- 2) $T_0 \subseteq T_a$
- 3) $T_a*X = T_a$
- 4) $x \in T_a \Rightarrow T_x \subseteq T_a$

:

: T_{a*b} , y T_{a*b} (1)

$y = (a*b)_*((a*b)*y)$

$= (a*b)_*((a*y)*b)$

$\leq a*(a*y)$

.(3-1) (7) (3)

$(a*(a*y))*y=0$ (1-1) (3) $y \leq a*(a*y) :$

$y \in T_a$ $a*(a*y) = y :$ $a*(a*y) \leq y$

.(1)

.a = b (1) (2)

T_a*X (3)

(7-1) $z*y$ $z \in T_a$. $y \in X$, $z \in T_a$

(1) $z = a * x \quad x \in X$

:

$$T_{z * y} = T_{(a * x) * y} \subseteq T_{a * x} \subseteq T_a$$

: $z * y \in T_a \quad z * y \in T_{z * y}$

$$T_a * X \subseteq T_a$$

(3-1) (1)

$x = a * u \quad u \in X \quad x \in T_a \quad (4)$

$T_x \subseteq T_a \quad T_x = T_{a * u} \subseteq T_a : (1)$

:

: -2 -2

: $n, X \quad x, a \quad \text{BCI-} \quad X$

$$a * (a * (a * X^n)) = a * X^n$$

n

:

(1-2) (3)

$a = 0 \quad [7]$

: -3 -2

: $\text{BCI-} \quad X$

1) $L(X) = T_0 = 0 * X$

2) $L_n(X) \subseteq L(X) \quad (\forall n \geq 1)$

3) $a \in L_n(X) \Rightarrow 0 * a^{(n-2)} = a \quad (n \geq 2)$

:

(7-1) (8-1) (2)

$n = 1 \quad (2)$

$a \in L_n(x) \quad (n > 1)$

: (3-1) (3) *

$$(0 * a^n) * (0 * a^n) = 0 \Rightarrow (0 * (0 * a^n)) * a^n = 0$$

$0 * a^n = x \quad 0 * (0 * a^n) = a : - n \quad a$

$$a \in L(X) \quad a = 0 * x$$

$$a \in L(X) \quad (3)$$

:

$$0 * (0 * a^n) = a \Rightarrow 0 * (0 * (0 * a^n)) = 0 * a$$

$$: \quad 0 * (0 * (0 * a^n)) = 0 * a^n \quad (2-2)$$

$$0 * a^n = 0 * a \Rightarrow (0 * a) * a^{n-1} = 0 * a$$

$$: \quad (3-1) \quad (3) \quad ((0 * a) * a^{n-1}) * (0 * a) = 0 :$$

$$((0 * a) * (0 * a)) * a^{n-1} = 0$$

$$. 0 * a^{n-1} = 0 :$$

$$(2) \quad (0 * a^{n-2}) * a = 0 :$$

$$. 0 * a^{n-2} = a : \quad a$$

$$: \quad * \quad X = \{0, a, b, c\} \quad : \quad -4 -2$$

*	0	a	b	c
0	0	0	c	c
a	a	0	c	b
b	b	c	0	a
c	c	c	0	0

$$[3] \quad BCI - X$$

$$X \quad T_0 \quad 0 * X$$

$$(3-2) \quad (1)$$

$$T_c, T_b, T_a$$

$$(1-2) \quad (2) \quad T_0$$

a

$$. T_b \quad T_a$$

$$.(9-1)$$

$$: \quad -5 -2$$

$$: \quad 2 \quad n \quad X \quad a \quad BCI - X$$

$$(\forall x \in X) 0 * a^{n-2} = a \Rightarrow a * (a * x^n) = a * (a * x)^n$$

:

$$: \quad (3-2) \quad (3) \quad :$$

$$a \in L_n(X) \Rightarrow a * (a * x)^n = a * (a * x^n)$$

: -6-2

$$: \quad X \quad a \quad \text{BCI-} \quad X$$

: -7 -2

$$1) (a * (x * y)^n) * a = (a * x^n) * (a * y^n)$$

$$2) a * (x * y)^n = ((a * x^n) * (a * y^n)) * (0 * a)$$

n X y, x

$$:(9-1) \quad (2) \quad . X \quad y, x \quad (1)$$

$$0 * (x * y)^n = (0 * x^n) * (0 * y^n)$$

$$: \quad (1-1) \quad (1)$$

$$(a * a) * (x * y)^n = ((a * a) * x^n) * ((a * a) * y^n)$$

$$: \quad (3-1)$$

$$(a * (x * y)^n) * a = ((a * x^n) * a) * ((a * y^n) * a)$$

$$:(3-1) \quad (7)$$

$$(a * (x * y)^n) * a \leq (a * x^n) * (a * y^n)$$

$$: \quad (8-1) \quad (a * x^n) * (a * y^n)$$

$$(a * (x * y)^n) * a = (a * x^n) * (a * y^n)$$

:

$$((a * (x * y)^n) * a) * (0 * a) = ((a * x^n) * (a * y^n)) * (0 * a)$$

$$: \quad (3-1) \quad (7)$$

$$((a * (x * y)^n) * a) * (0 * a) \leq (a * (x * y)^n) * 0 = a * (x * y)^n$$

$$a * (x * y)^n \quad (8-1) \quad (1) \quad a$$

:

$$((a * (x * y)^n) * a) * (0 * a) = a * (x * y)^n$$

$$a*(x*y)^n = ((a*x^n)*(a*y^n))*(0*a)$$

:

$$: -8 -2$$

: * X = {0, 1, 2, 3, 4}

*	0	1	2	3	4
0	0	0	4	4	2
1	1	0	4	4	2
2	2	2	0	0	4
3	3	2	1	0	4
4	4	4	2	2	0

x ∈ X [2] BCI- (X, *, 0)
 n = 4 n-2 = 2 0*2² = 2 : (5-2)

$$2*(2*x^4) = 2*(2*x)^4$$

4 (7-2)

(4-2)

X

:

$$(4*(x*y)^n)*4 = (4*x^n)*(4*y^n)$$

$$4*(x*y)^n = ((4*x^n)*(4*y^n))*(0*4)$$

. n

X y, x

$$: -9 -2$$

~ ,BCI- X
 e ∈ X 0*(0*e)

:

(2) [e] e BCI- X
 : (3-1)

$$0*(0*e) \quad 0*(0*e) \in [e] \quad 0*(0*(0*e)) = 0*e$$

.(3-2) (1)

: a ∈ [e] X a

$$0*a = 0*e \Rightarrow 0*(0*a) = 0*(0*e)$$

$$0_*(0_*a) = a$$

$$0_*(0_*e) = a$$

X e BCI - X

-10 -2

$$1) \quad x^e (\forall x \in X)$$

$$2) (x*y)^e = (x^e*y^e)*e (\forall x, y \in X)$$

$$3) (x'*y')*e = ((x'*e)*(y'*e))*e (\forall x, y \in X)$$

$$.y = x^e \quad y*x^e = 0, y \in X \quad : (1)$$

$$. (*) \quad \begin{aligned} 0 = 0*0 = 0*(y*x^e) \quad y*x^e = 0 : \\ (0*x^e)*(0*y) = 0 : \quad 0*x^e = 0*y : \end{aligned} \quad (3-1)$$

$$0*x^e = 0*((\dots(x*e_1)e_2)*\dots)*e_n*(0*e^{n-1})$$

$$: \quad (3-1) \quad (4)$$

$$0*x^e = (\dots((0*x)*(0*e_1))*(0*e_2))*\dots*(0*e_n)*(0*(0*e^{n-1}))$$

$$: \quad \{e_1, e_2, \dots, e_n\} = [e]$$

$$\begin{aligned}
0 * X^e &= (\dots(0 * X) * (0 * e)) * (0 * e) \dots * (0 * e) * (0 * (0 * e^{n-1})) \\
&= (\dots(0 * X) * (0 * e^n)) * (0 * (0 * e^{n-1})) \\
&\quad : \quad (3-1) \quad (3)
\end{aligned}$$

$$\begin{aligned}
0 * X^e &= ((0 * (0 * e^n)) * (0 * (0 * e^{n-1}))) * X \\
&: \quad (3-1) \quad (9-1) \quad (1)
\end{aligned}$$

$$\begin{aligned}
0 * (0 * e^n) &= 0 * (0 * e^n) \\
&= 0 * ((0 * e^{n-1}) * e) \\
&= (0 * (0 * e^{n-1})) * (0 * e)
\end{aligned}$$

:

$$\begin{aligned}
0 * X^e &= (((0 * (0 * e^{n-1})) * (0 * e)) * (0 * (0 * e^{n-1}))) * X \\
&= (((0 * (0 * e^{n-1})) * (0 * (0 * e^{n-1}))) * (0 * e)) * X \\
&= (0 * (0 * e)) * X \\
&= (0 * X) * (0 * e) \\
&= 0 * (X * e)
\end{aligned}$$

$$.0 * X^e = 0 * (X * e)$$

: (*)

$$\begin{aligned}
(0 * (X * e)) * (0 * y) = 0 &\Rightarrow 0 * ((X * e) * y) = 0 \\
: \quad 0 * ((X * y) * e) = 0 &: \quad (3-1)
\end{aligned}$$

$$0 * (X * y) = 0 * e$$

$$. X * y = e_j \quad j \in \{1, 2, \dots, n\} \quad X * y \in [e]$$

$$: \quad , X^e * y = 0 \quad X^e \leq y$$

$$\begin{aligned}
X^e * y &= (\dots(X * e_1) * e_2) * \dots * e_n * (0 * e^{n-1}) * y \\
&: (3-1) \quad (3)
\end{aligned}$$

$$\begin{aligned}
&= (\dots(X * y) * e_1) * e_2 \dots * e_n * (0 * e^{n-1}) \\
&= (\dots(e_j * e_1) * e_2) * \dots * e_j \dots * e_n * (0 * e^{n-1}) \\
&= (\dots(e_j * e_j) * e_1) * e_2 \dots * e_{j-1} * e_{j+1} \dots * e_n * (0 * e^n) \\
&= (\dots(0 * e_1) * e_2) * \dots * e_{j-1} * e_{j+1} \dots * e_n * (0 * e^{n-1})
\end{aligned}$$

$$\begin{aligned}
 &: \{e_1, e_2, \dots, e_n\} = [e] \\
 &x^e * y = (0 * e^{n-1}) * (0 * e^{n-1}) = 0 \Rightarrow x^e * y = 0 \Rightarrow x^e \leq y \\
 &.x \quad x^e \quad x^e = y \quad x^e \leq y \quad y \leq x^e \\
 &(1) \quad X \quad y^e, x^e \quad : (2) \\
 &\cdot (x * y)^e \quad , \quad (x^e * y^e) * e \quad x^e * y^e \quad (8-1)
 \end{aligned}$$

$$\begin{aligned}
 &(x^e * y^e) * e, (x * y)^e \\
 &\cdot \quad (9-2)
 \end{aligned}$$

$$: (3-1)$$

$$\begin{aligned}
 0 * ((x^e * y^e) * e) &= (0 * (x^e * y^e)) * (0 * e) \\
 &= ((0 * x^e) * (0 * y^e)) * (0 * e)
 \end{aligned}$$

$$\begin{aligned}
 &: \quad 0 * x^e = 0 * (x * e) \\
 0 * ((x^e * y^e) * e) &= ((0 * (x * e)) * (0 * (y * e))) * (0 * e) \\
 &= (0 * ((x * e) * (y * e))) * (0 * e) \\
 &: \quad (3-1)
 \end{aligned}$$

$$\begin{aligned}
 &((x * e) * (y * e)) \leq (x * y) \\
 \Rightarrow &((x * e) * (y * e)) * (x * y) = 0 \\
 \Rightarrow &0 * (((x * e) * (y * e)) * (x * y)) = 0
 \end{aligned}$$

:

$$0 * ((x * e) * (y * e)) = 0 * (x * y)$$

:

$$\begin{aligned}
 0 * ((x^e * y^e) * e) &= (0 * (x * y)) * (0 * e) \\
 &= 0 * ((x * y) * e) \\
 &= 0 * (x * y)^e \\
 &\quad (x^e * y^e) * e, (x * y)^e
 \end{aligned}$$

:

$$(x^e * y^e) * e = (x * y)^e$$

$$\begin{aligned}
 & \qquad \qquad \qquad : \qquad \qquad \qquad (3) \\
 (x*y)^e &= (x*y)' * e, y^e = y' * e, x^e = x' * e \\
 & \qquad \qquad \qquad : \\
 ((x' * e) * (y' * e)) * e &= (x * y)' * e \\
 & \qquad \qquad \qquad : \\
 (x * y)' * e &= (x' * y') * e \\
 y' \leq y & : \qquad y' * y = 0 \qquad \qquad \qquad : (3-1) \\
 x' * y \leq x' * y' &\Rightarrow (x' * y) * e \leq (x' * y') * e \\
 &= (x' * e) * y' \\
 &= x^e * y' \\
 x^e * y' & \qquad (8-1) \qquad \qquad (1) \qquad \qquad \qquad x^e \\
 & \qquad \qquad \qquad : \\
 (x' * y) * e &= x^e * y' \Rightarrow (x' * y) * e = (x' * y') * e \\
 : (3-1) & \qquad \qquad (3) \\
 (x' * y) * e &= (x * y)' * e \\
 & \qquad \qquad \qquad : \\
 (x * y)' * e &= (x' * y') * e \\
 & \qquad \qquad \qquad : \\
 ((x' * e) * (y' * e)) * e &= (x' * y') * e \\
 & \qquad \qquad \qquad : \\
 & \qquad \qquad \qquad : \qquad \qquad \qquad 0 * e = 0 \\
 (x' * y') * e &= (x' * e) * (y' * e) \\
 & \qquad \qquad \qquad :
 \end{aligned}$$

$$\begin{aligned}
 & \qquad \qquad \qquad : \qquad \qquad \qquad x, y \in X \\
 & (x * y)^e = (x^e * y^e) * e \quad (\forall x, y \in X) \\
 & \qquad \qquad \qquad : \\
 & ((x * y) * 1) * 2 = (((x * 1) * 2) * ((y * 1) * 2)) * 2 \\
 : x, y \in X \quad & 0 * 2 = 0 \quad (10-2) \\
 & \qquad \qquad \qquad x' = x * 1, y' = y * 1 \\
 & \qquad \qquad \qquad : \\
 & (x' * y') * 2 = (x' * 2) * (y' * 2) \\
 x' = x * 1, y' = y * 1 & \\
 . \qquad \qquad \qquad & 1
 \end{aligned}$$

$$\begin{aligned}
 & [7] \quad 0_*(0_*(0_*X^n)) = 0_*X^n \quad -1 \\
 & \quad \quad \quad \cdot X \quad a \quad 0 \\
 a \quad 0 & \quad \quad \quad 0_*(0_*X^n) = 0_*(0_*X)^n \quad -2 \\
 \cdot a & \quad \quad \quad n \quad \quad \quad 0_*a^{n-2} = a \\
 & \quad \quad \quad : \quad \quad \quad 0_*(x*y)^n = (0_*X^n)*(0_*y^n) \quad -3 \\
 (a_*(x*y)^n)*a & = (a_*X^n)*(a_*y^n) \\
 a_*(x*y)^n & = ((a_*X^n)*(a_*y^n))*_*(0_*a) \\
 & \quad \quad \quad X \quad a \\
 & \quad \quad \quad \cdot n \\
 & \quad \quad \quad , \quad x^e \quad -4 \\
 & \quad \quad \quad .
 \end{aligned}$$

REFERENCES

- 1- Dudek, W. A. (1988). on the axioms system for BCI- algebras, prace Nauk. Współczesności, *Mathematyka* 2.
- 2- Dudek, W. A. (1997). A computer method of computation of BCK and BCI-Algebras of small orders, Novi Sad, pp. 41-64.
- 3- Huang, W. (2002). Ideals and subalgebras in BCI- algebras, *Southeast Asian Bulletin of Mathematics* 26: 567-573.
- 4- Huang, W. (1992). Nil-radical in BCI-algebras, *Math-Japonica* 37, No.2: 363-366.
- 5- Iseki, K. (1980). on BCI- algebras, *Math. Sem. Notes* 8, 125-130.
- 6- Meng, J., and Xin, X. L. (1992). Characterizations of atoms in BCI-algebras, *Math. Japon.* 37, 359-361.
- 7- Sun, D., and Huang, W. (1999). On Torsion part in BCI- algebras, *Math. Japonica* 50, No. 1, 115-119.